{(2) (o) The foctors of 11 ore 1 ond 11

11 is o pramee rumbser.

(b} The foctors of 14 ore |2, 7 ond 14,
14 is o composite number.

(c}) The foctorsof 24 ore 1,2, 3, & & B 12 ond 24,
14 is o gpmpEsite number.

(d} The foctors of 15 ore 1 gnd 15
15 is o prames rumbser.

Lats Practiza

19 @ ){ H

Foge |Answers

T4 Leorners should use scrap paper or mini whiteboards for jottings
before they complete these onswers.

(1) 104 = 5= 520 (2) 3&BO + 4= 3170
520 + 4= 130 $170 = 3= 3510
$510 = §135 = 3375

(3) 16%B=128 (&) & = 385 = §510
128 + &= 32 $550 - $510 = 340
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(1) (e) 21+35=] 54|
(e) 032+012=]04d
(&) £36+25=|676

(2) (o) 62-01=]&1 |
(e) 0.4&—003=04)

(e) 5.99-350=|244]

() (a) 100=25=250)
(e) 0123 =1000=| 123

(1080)

(&) 1000 x 23 =|2300

(b) 66+11=]77]
(d) 158+211=349)

() 143+026=]189

(b) 158-013=]145)

(d) 266-124=1.42

(f) 848-202=648)
(b) M1=1m=@

(d) 1.080 = 1000 =

() 1000 = 0.055=| 55

(&) (o) 457 + 100 =(457]

(€) 667 + 1000 =| 0.667 |

() 5399+ 1000 = 5399

() 333+ 100=333]

(d) 1028 + 1000 =|1.028]

(1) 8401 + 1000 = 8.401 |
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187 1.7 - 83 = 10
87 + L3 = 10
r¥ + 23 = 10
5.5 + 4.5 = 10
6.2 - 38 = 10
98 + 02 = 10
94 + 0.1 = 10
89 - Ll = 10
51 + &4 = 10
&8 + 5.2 = 10
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191 (1) we add to find the tosml detance
Let’s estrmate the eotal distance first o one decimal place,
138 + 256 =~ 1& + 26
= &0
1 : B
+ 3 &
k' q A
The arewer is ClO%8 o the estimate. Sa, it is Feasonable
%o, Podmao jogs o total distance of 3. 94 kmi
{2} wWe mulqﬂ}l to find the tatol thidkness.
1L &3 || &F 5
3 & . 3 0
Lo, the total thickness of the B dicticnaries s 342em
192 (3) We multiply to find the total cost of fish boughe.

‘8 . 7 ]
E q

7. 8 . 3 0

So. the totol cost of the fish bought s $78.30
We subtract  to find the change received.
¥ '# |°#8 '8 || 0
- 7 g . 3 i)
2 1 L 7 1]

S0, Tyo recewed  321.70 change.



193 |1y 2.3

(2) $12.39

(3) 6.75em



